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1. Which one of the following is a scalar quantity?
A) Mass  B) Position  C) Velocity D) Force

2. Find the dot product of the two vectors P and Q.
P={5i +2j +2k}m
Q={2i+5) + 4Kk}m

A)8m? B) -8 m? C)8m
D)-8m E) 10 m 2
3. When a particle is in equilibrium, the sum of forces actingonitequals . (Choose the
most appropriate answer)
A) a positive number B) zero C) a constant
D) a negative number E) an integer.
4. For africtionless pulley and cable, tensions in the cable (T1 and T2) are related as :
A)T1>T2
B)T1=T2
C)T1<T2
D)T1=T2sin6
7y
Cable is in tension
Fig. 1
5 Ifr={5)j}mand F={20k } N, the momentr x F equals { }N-m.
A)-100i B) -100 j C)100i
D) 100 j E) O



6. %SIH i %7 > IMPaik 4
(A) 10° N/ mm?
(B) 10° N/ m?

(C) 1 N/ m?
(D) 1 N/ mm?
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Fig. 3
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